
✩ Subtracting one number from another

Find the difference for each problem.

   835
–   23

  490
–  70

  175
–  54

  428
–  67

   587
–  43

   674
–  62

   389
–  58

   270
–  30

   483
–  35

  951
–  28

  746
–  17

  234
–  16

There are 565 children in a school. 
If 36 children are on a field trip, how 
many children are still at school?

A hardware store has 247 cans of 
paint. If they sell 29 cans, how many 
will they have left?

834
– 44

Find the difference for each problem.

431
– 84

347790

137 11123

Write the answer in the box.

Find the difference for each problem.

654 – 22 = 

577 – 26 =

491 – 31 =  

874 – 63 =
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The most likely errors to occur in the first section will involve subtractions where 
a larger digit has to be taken away from a smaller digit. Children often take the 

smaller digit that is on the top away from the larger digit on the bottom.
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Subtracting one number from another

Find the difference for each problem.

835
– 23

490
– 70

175
– 54

428
– 67

587
– 43

674
– 62

389
– 58

270
– 30

483
– 35

951
– 28

746
– 17

234
– 16

There are 565 children in a school. 
If 36 children are on a field trip, how
many children are still at school?

A hardware store has 247 cans of
paint. If they sell 29 cans, how many 
will they have left?

834
– 44

790

812 420 12 1 361

544 612 331 240

448 923

460 632

551811

729 218

Find the difference for each problem.

431
–  84

347

137 11123

Write the answer in the box.

Find the difference for each problem.

654 – 22 = 

577 – 26 =

491 – 31 =

874 – 63 =

529 218
565
– 36
529

5 15
247

– 29
2 18

3 17
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